EARAROBEEIERT — 2 N— IBISH —F

20165482480 (B) SEI=#R2H

EZS

=

‘ [REBE] — | Z (%) 16000 B

IR > R4mE 1000ATF CGRE) [HEE] &2

[~®%] 1 % 10,500,000 @ 2 7 :4,200,000 @ ~ 3 #&:2,600,000 ™

4 7% 11,600,000 53 1,050,000 F

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o S . it 4 | MEKTE 1:34.0 2-2 33.9(100.4| 6 518 | FRHERE (ER)
117|9|EZARTAT g 57.0 fal © |H H YzA7®AAFK
RNT BT H—L— - SvX> - T7— LERE
5 = o4 | EE 1:34.0 3-3 33.9(100.4 | 4 482 | EKAE (RR)
2 6|>a—77% A54.0 (%) (42) TRGLF
L:TLrFFE2T B:Y3—Ta-Y3ar FEHS
LIAF—5— 4 4 | AL 1:34.1 4-4 33.7| 99.4 | 1 474 | FARFE (RE)
3 2| TLIFT—7 55.0 (1/2) (-4) éP E—
L:2F4d— K B:v—dL =]l
S ¢ 4 5 | fBKth— 1:34.2 7-6 33.6|98.3 | 2 476 | FEETES (RR)
4 4| I —F =3 57.0 1/2) (-q) | PUER—
LN=Y774 B:9+—42—-IF> RABKS
—s 4 6 | EFEPER 1:34.5 5-4 34.3]93.8| 9 516 | AT (RR)
5/8l10| 7 >3V VX 57.0 (1 3/8) (1) | EIHEE
L:g14Fxvv bV BFra0LY—F chigy —=
NS # o7 | BEAS 1:34.7 1-1 34.7| 89.8 | 5 510 | BERfE— (3ER)
EE 7 INHA 57.0 (1 1/4) +8) 1EEE
R:24¥>v ML B:70713—-54Y 7995 TT— L4
SRS ft 5 | ALK 1:34.9 9-8 3411 9.5 | 8 478 | BOEN (FH)
7178 Ly RFA—F L 55.0 (11/2) (-6) (B) EmRA—XL -2
REATAS v — BBy FIA—T—IFK HET7— L
oS, 4 4 | BRI 1:35.0 11-11 33.8| 89.4 | 3 462 | BE (BR)
8|8|11| 7t 57.0 @/4) O
XL THANAN BN— 5T I— ® s
3 S, 44 | EBERRI 1:35.2 5-6 34.7| 8.5 | 10 408 | 1EEH= (EH)
911 TV RA=2 57.0 (1 1/4) (+a) | BAEE
R:RA—YLFO—X BiA-Fr—KI52 EEH4E
5 5 46 | EIIEF 1:35.2 10-10 |34.2| 87.2 | 7 474 | BESE (ER)
10l 3| 2B/ T>TL L 57.0 (Fa) (o) |AKERE
R:r—I>TLL B:FvyFHFI—LFR (/) HEa—-KL—Ya> AET7
3 " 47 | BEER 1:35.5 8-8 34.8| 82.5 | 11 486 | THEEZ (EX)
111515 A9y T A\55.0 (1 3/4) (-8) WRLTF I
LA k=1 §:79/707L2 RE4HS
@ 21 L
£ 45.9-34.0
NA>ZA L | 12.5-11.3-12.0-12.3-11.9-11.3-10.9-11.8
® 1—F—@EBIERL
13—7F-
Pal=5F=
Ja=77= 7,9,6,2(1,10)4,5,8,3,11
ASl=5F= (¥7,9)6(2,10)-(4,1) (8,5)3, 11
[ N5
B 9 1,630M 714K 6-9 1,560 e E 6-7 2,270 JEE 2-6-9 5,260/
# B 9 320H 2-9 830M B E 6-9 5,590 3EE 9-6-2 50,500/
6 210M 2-6 450M B H 9-6 12,120M
2 1309

ABICOVWTRDTEEERROODE. TR LIV,




